196 Exponential and Logarithmic ons Lesson #5: Evaluaring Logarithms-

ix.# | Convert the following legarithms to the base indicated.

ClamEx.#10 §  Find the exact value of the foll

/l/ 1 1
élg : a) -1og7(§§) b) 6 loss 216 c) logy\/ —sx 0

Complete Assignment Questions #4- ¥15

Asslgnment
1. -Evaluate.
2) log1ol000 =V b) log;y144 = Vo) logg36 =\ d) logy6 =V | o
\00p =10 At 3= b b= 30" =6
Vv \3\ <\ *>_ v \
5 0% -_ 10 e b o
| 10840 WB% 109 19 = e log) , 2k = ‘9” 09396 ) 5’
e) log‘?\/_g =\ logip 0001 =v  g) log, 512 -V h) 4jlogg 8™ - \/
=5 ~ V= log,p 000! log &
&
55 =57 lgV= 0-00l \[;b; g{ »q,%f V=Y
T V= 107> v=-3 (-—-’-' > L
logs & = 4 -\ o ey, et
s ¥s = 3 =30~ 13 3% = ok A L‘\O.g‘ﬂ,lb
2. State the value of 1050\ \J}‘.& = - ) J¥ -
a) log,l b) log.c ¢) logx? d) ploss10
O B z |0
3. Solve for x. ‘
a) log 125 = 3 b) log 55 = x c) log4x--8
s = X° S= 3" | X=y4?
X=5 S ng X = ©.0000\$53
4. Evaluate each of the following lo?ar;tgm. ,
a) log100 =\ ~  b) lo‘g 108 ;«\/ ¢) logy/10 = \/ d) log001 =1/
Y oW, 0=10" o~ 10, gop- o
lo*—,\o \J‘-"(o [OD- ’\‘D , \0_;__‘_/ O ¥ = -

TR \
\oo = 2 loglo™ = Vet 000 > 7 I
2 - T = 5 e
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5. Evaluate the following logarithms to the nearest tenth.

a) In20 b) log,8 -(ln %) ¢) Ine?
3.0 - o.0
6. Convert the following logarithms to the base indicated.
a) logg35 tobase7 b) log % to base 6 ¢) logs50 to base e
\?ﬁ] 35, l%b:\i/ loﬁts.g
\O%g log, 1O loge 3
7. Evaluate, to the nearest hundredth, using the change of base identity.
a) logsl7 b) logys 5.9 c) fog53 d) -2log;, 6 e) logg8
e L 5 R AU T R
\05 ) 1040 .5 9o Vo |2 \058’ —_—
=1 S35k o9y 5%
8. Evaluate eacs expression: iLj-b' T :,(__«
logad = ‘ log 101000
a) 4 4 \/‘ vel b) 10 Loy 1500 :\/ ' \033 O 6o
=4 =Y, oo~ D N=3 -
9. Describe how to graph y = log; x using a graphing calculator. Sketch the graph and
determine the x-intercept. loa X K=ink =\

graph 3= \6%‘3‘

10. In each of the following

i) estimate the value, to the nearest whole number, without using technology and
explain the reasoning
ii) approximate the value to the nearest hundredth using technology

a) log, 26 b) log,100 ¢) log, 60
log 41 =3 log , b4 =6 o9 3,108-7 logy ¥ 3
1) 7 \'5 3
010 (1) b4 i) aav

N 11. Which of the following has a negative value?

Choice 5 2 2
A. -log,0.1) B. log4(—i) C. log%(—j) @10&(5)
- bb 0 .bb O ~0.4.9
12. Without using a calculator, an estimate of the value of logi 30 - log; 30 is
A. 50 B. 24 g logs¥1= 3
(© 138 D. -19 NS -Boe = b
AAN

51— choi (L.
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KRN 13. The value of the expression logﬁ 8 + 2logg 3, to the neareis .

Hine (Record your answer in the numerical response box from left to right.) { O
R
\03 L &050\

- b+ &(%»X ~ ]

14.  Given the equation log, x = log, 60, the value of x to the nearest #hole gumber is

(Record your answer in the numerical response box from left to right.) 2 \ 3

9% _ logbo  log = logko - log T e
\o%“\ \OSL\ . \681 2. 49595 .

X < 10 o 3 3 9\ . n
| 3, (usey 229 1]
15. If log, 27 = log;, 3, the value of x to the nearest whole number is . E@
(Record your answer in the numerical response box from left to right.) L 1TA 3
o] = 1082 loghe gl voax
VG |~
\0%& \ %l \0‘33 _
lo X = %\2\’5—\3 o
6 1.3%315 - ..
X=\o
Answer Key
1 i 9

: — - -12 =
1. a) 3 b) 2 c) 2 d) > e) 5 f) -1 g) 5 h) 16
2.2 0 b) 1 ¢z d) 10 3.2 5 b) % ¢) 4782 0.000015
4. a) 2 b) 6 c) % d) -2 5. a) 30 b) 2.1 ¢) 2.0

loge( 3
6. a 1B by (2 o loBes0
log+8 logsl10 log 3
7. a) 1.76 b) -2.56 c) 146 d) -1.44 e) 1.00
8. a) 4 b) 1000 9. Graphy-%"g—;, x-intercept is 1
og
10.a) i) logs 26 is slightly less than log327 which equals 3. Therefore the estimate for log26 is 3.
ii) 297

b) i) log;100 is greater than log>64 (equal to 6) and smaller than log,128 (equal to7).
Therefore an estimate for log;100 is 7.
ii) 6.64
¢) i) logy60 is slightly less than log464 which equals 3. Therefore the estimate for log460 is 3.
ii) 295
11.D 12. C
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